£270 BEAKREIILIAR <FE>
BEEE - ST3E7 A 298 (K) BIEERE: €TV IUAHINI—05T

20X
BF 54 mLLF
& iz K B ouT I\ 5t
1 a2 BEX 34 35 69
2 AL E—BB 35 36 71
3 B & 36 36 72
4 el X 37 36 73
$BF 55~ 64 %
& iz K B ouT I\ st
1 BB 5— 37 39 76
2 pEf 47th 37 39 76
3 820 &— 40 37 77
4 hl B2 39 38 77
BF65m~ 74
& iz K B ouT I\ st
1 TNH Ei 37 39 76
2 =7 8834 38 39 77
3 o KE 38 39 77
4 LURE BA7% 38 39 77
BF 75w E
& iz K e ouT I\ st
1 L6 sk 42 38 80
2 #@H 2= 40 40 80
TF 49 mLLF
Il {32 K % ouT IN st
1 W& FRFK 36 44 80
2 B2 HT 41 42 83
3 [REB X758 38 46 84
4 WAI>Fa> 44 41 85
TF 50wk
Il 42 K % ouT IN st
1 &1 TR¥ 40 37 77
2 Bl BT 39 39 78
3 LB BT 41 38 79
4 N FRERSE 43 41 84




FED

£ 270 BRAKRINIKE <FE>

CHH3FE7H8298 (K) BEERES: €TIVAZAYNI—I3T

BF 54 mUT
JIE: {2 K % ouT IN €] HDCP  NET
1 &= ifE— 38 39 77 8.4 68.6
2 Mim 8 47 46 93 22.8 70.2
3 e BIR 36 39 75 4.8 70.2
4 6B $RLE0 35 40 75 4.8 70.2
5 WA F0=E 40 39 79 8.4 70.6
$BF 55 ®~ 64 i
[:3 v K £ ouT I\ €] HDCP NET
1 B RS 45 42 87 19.2 67.8
2 £ X2 54 41 95 26.4 68.6
3 AE 85h 45 45 90 20.4 69.6
4 PE —% 39 42 81 10.8 70.2
5 T a8 41 43 84 13.2 70.8
BF65m~ 74 iR
[:3 v K % ouT IN GR HDCP  NET
1 AR IEfE 39 39 78 7.2 70.8
2 LB BE— 47 48 95 24.0 71.0
3 BK & 43 49 92 20.4 71.6
4 1Eik BB 41 38 79 7.2 71.8
5 Wik 28 37 42 79 7.2 71.8
SF75mE
[1:1v3 K % ouT IN €] HDCP NET
1 PRz BB 42 39 81 9.6 714
2 IR AR 42 45 87 15.6 71.4
3 ZhE 43 42 85 13.2 71.8
4 B 12688 40 40 80 7.2 72.8
5 7R =EA 43 44 87 10.8 76.2
TF 49 mUT
[:31v2 K % ouT IN €] HDCP NET
1 BB 3 44 42 86 13.2 72.8
2 SRTUN 45 45 90 16.8 73.2
3 A0 B8 47 52 99 25.2 73.8
4 WS IR 36 49 85 10.8 74.2
5 &0 BEB 50 54 104 27.6 76.4
TF 50wk
& 432 K % ouT IN GR HDCP NET
1 BRI =R 48 40 88 15.6 72.4
2 PE EhF 43 52 95 21.6 73.4
3 aBE 8F 50 48 98 24.0 74.0
4 T8 ERT 40 46 86 12.0 74.0
5 p#d NEF 40 50 90 15.6 74.4




